101.

102.

103.

PHYSICS

The dimensional formulafor permittivity
of free space (g,) lin the equation

F= 'Z;E Sl‘g—z where, symbols have
their usual meaning is

A) ML A2 T

B) [M--‘l L-3 T4 AZ]

C) [M—1 L--3 A—2 T—4]

D) [MUL2 T2 A~]

A body moves aleng a straight line
with acceleration 3 ms=2 for 2 seconds
and then with acceleration 4 ms=2 for
3 seconds. What is his average
acceleration ?

A) 3.4ms™2
B) 3.5ms 2
C) 3.6ms™=2
D) 3.7ms™2

Two bodies are projected at angles
9 and (90°- @) to the horizontal with

the same speed. The ratio of their times
of flightis

A) sind:1
B) cos09:1
C) sin®:cos®

D} cosO:sing

101.

102.

103.

witfren fomm

i F=— ) %%2 § gy s
4me, r?

W(Eo)%mm@__
2 | STET Wefteh <1 G 319 ¥ |

A) [M1 113 A2 T“‘]

B) ML T4 A2)

C) [M1L3A_2T_4]

D) M'L3 T2 A

U T 2 Tehe % ol 3 ms w@RU &
1y 37K T 3 The & fAT 4 ms—2 =
o T TG {1 0 Tetal 8, 9 S9!
O TR ?
A) 3.4ms=2
B) 3.5ms™2
C) 3.6 ms™2
D) 3.7ms2

< FEgeT i 9EE N 8 &fas i A g
3R (90° —0) =i & e fpan stran
HERiEae et R ol o k|
IFT[ R

A) sing:1
B) cos©:1
C) sinB:cos@

D) cos0:sind

3EE
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104.

105.

The co-efficient of friction between two
surfaces is 1 =0.8. The tension in the
string as shown in the figure is

1kg

30°
AYON B) 6N
C) 4N D) 8N

A body of density p and volume V is
lifted through height h in a liquid of
density o (< p). The increase in
potential energy of the body is

A) V(p-o)gh

B) Vpgh

106.

107.

C) Vogh
D) Zero

A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.
How much time does it take to cross the
earth ?

A) 169.2 minutes
B) 84.6 minutes
C) 21.2 minutes
D) 42.3 minutes

A curved road of diameter 1.8 km'is
banked so that no friction is required
at a speed of 30 m/s. What is the
banking angle ?
A) 6°

C) 26°

B) 16°
D) 0.6°

104.

105.

106.

< gagl % == % wdor T UG p=0.8 ® |
e # gl gu & =81 o 21
1kg

30°
A) ON B) 6 N
C) 4N D) 8 N

¥ ¢ (< p)gﬁﬁwﬁﬁlﬁhﬁﬂmp
iR st V % TF 95 S FW I8M1
ST § | Ty i ke St 4 gfg

2

A) V(p-o)gh

B) Vpgh

C) Vogh

D) =

UF GO I g % AW & @9 § @i

T E | G gsEEE m 3§ o e mn
21 geft 1 R wE § 5@ fRen T

. TR ?

107.

( Page No. 31 ]

A) 169.2 e
B) 84.6 fime
C) 21.2 fye
D) 42.3 fiFre

1.8 Fr.1ft. = T IR GSH I
T R, AR 30 et wid dehe Y nifd
0T Y ATIVIRAT TR B | A AR B
Y7
A) 6°
C) 26°

B) 16°
D) 0.6°
~ 3EE
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108.

109.

110.

The moment of inertia of a sphere of
mass M and radius R'about an axis

2
passingthroughiits centre is MR?.

The radius of gyrétibn of the sphere
about a parallel axis to the above and
tangent to the sphere is

A) %H B) %H

A ol

The length of a metal wire is J, when
the tension in itis T, and'is I, when
the tensionis T, . The natural length of
wire is
Lty

2

B) Jnk

LTa=bTy
=T

A)

LT, + LT,
L+T,

In each heartbeat, a heart pumps 80 ml of
blood at an average pressure of 100 mm
of Hg. Assuming 60 heart beats per
second, the power output of the heart is
(Pg =13.6x10° kgm ®)(g = 9.8 ms?)

108.

109.

110.

FEAAE M 37 F5591 R & a9 1 36
Y YR BHAETeT A8 o Feed 1 AT

2 MR2 &1 3 3w s e 3
HHMETIL 318 o &1 | g o1 aRemo B
e

A) -g—H B) -g-H
7 3
o ()

HTq % TR 1 TS [, © 99 3GH 9 T,
8 3R [, 3TH TS T, ¢ | AR A IS
ElH ad

L+l
2

B) Jhk

LT =bLTy
T,—=T,

A)

LT+ 5T,
T,+ T,

T 1&g 4 gad 100 frh. Ho& laa eam
7 80 1.1, T <! ey =t © 1 wifer Ak 60
R %5 YSHAT 8, I §ed 1 IcIEd 5ol
_ R (pyy=13.6x10° kgm™?)

(g=9.8ms?)

A) 1.0W B) 1.06 W A) 1TOW B) 1.06 W
C) 1.12W D) 2.16 W C) 1.12W D) 2.16'W.
[’W} 3EE
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114,

112.

113.

114,

115.

Two liquids A and'B are at 32°C and
24°C. When mixed in equal masses
the temperature of mixture is found to
be 28°C. Their specific heats are in
the ratio

A) 3:2
C)1:1

B) 2:3
D) 4:3
If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) Become half

B) Becometwo times -
C) Become four times
B) Remain constant

The rms speed of oxygen at room
temperature is about 500 m/s. The rms
speed of hydrogen at the'same
temperature is about

A) 125m/s
C) 8000 m/s

B) 2000 m/s
D) 31 m/s

The distance between two points
differing in phase by 60° on a wave
having a wave velocity 360 m/s and
frequency 500 Hz is
A) 0.72m

C) 0.12m

B) 0.18m
D) 0.36m

A particle moves according to the law

it
X=rcos—-. The distance covered by

it in the time interval between t = 0 and
t=3sis

A)r
C) 3r

B) 2r
D) 4r

111.

112,

113.

" C) 8000 m/s

114.

115.

| PageNo. 33 |

53 A 3B 32°C 3 24°C AR T |
7ol €1 ST QU goam & e s 8,
aa flso7 =7 AT9AH 28°C 8 ST | 39
fafiree T =1 ST 2

A) 3:2 B) 2:3
C)f™i D) 4:3

R Tk ARY 719 T g9 AR q9AH
AT T ST © 3T e 2 € v @,
A T4 o st F gEm

A) Teft B e ®

B) B AT & ST §

C) IR T & 9wt 8

D) R wh

FH o d9HE T S i ms .Trﬁr
TFT 500 mvs | IH) T9HW T ERSNE
1 rms T ST 1

A) 125 m/s B) 2000 m/s
D) 31 m/s
360 m/s 70T A 3K 500 Hz g &

T W HF A 60° T 3wm @ fogedi &
Cieka kil H

A) 0.72m B) 0.18m
C) 0.12m D) 0.36m

x=rcos§ﬁm%m@maam
¥l t=0 2Tt = 3s o st T i o

3E 79 T gl 2
A)r B) 2r
C) 3r D) 4r

3EE
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116.

117.

118.

A charged particle moves with a velocity
V.in a circular path of radius R around a
long uniformly charged conductor then

A) V=R

&
B) R

1
C) V“"ﬁ

D) Vis independent of R
The capacitance of a parallel plate

4
capacitor becomes 3 times its original

value if a dielectric slab of thickness

2
(where d is the distance of separation
betweenthe plates). What s the dielectric

constant of the slab ?
A) K=2

B K=)%

C) K=1

D) K=+2

A letter ‘A’ is constructed of a uniform

wire with resistance 1.0Qcm'. The,

sides of the letter are 20 cm and the
cross-piece in the middle is 10 cm long.
The apex angle is 60°. The resistance
between the ends of the legs is

A) 50.0 Q
B) 26.7 Q
C) 272 Q
D) 34 @

d
== i inserted between the plates’

116. 3 T i S Bear R % TMensr 99

117.

118.

TG V A oS T GEE A hea
% =R} 3R =18, W
A) VR

1
Vor; o
B) R

C) Voc-‘rﬁ
D) R¥V @aa ?

o 1= e & S A

& et & s Paf fe o g, @
TR e G Y e ST A

geqaggmawen%maaaﬁmaaam
Farcies 7 2 7 (et e & e b g
Hfgltd )
A) K=2

B)Kz}é

C) K=1
D) K=+2

it 1.0 Q2 cm ! 3 AT TH GAN R
3 3o *A! ohY HERT AR TS R | o <R e
20 cm R e § FFwEN €S 10 cm
v | 3 i 60° R | URT ¥ A F
ofter = g Bl

A) 50.0 Q

B) 26.7.Q

C) 272 Q

D) 34 Q

ﬁage N.ﬁ. 34 ]

3EE

.
gcollegedumaé
India’s largest Student Review Platform




ek

119. A wire loop PQRSP formed by joining 119. = R, iy Hza; 3l ANagRRR arl &
two semicircular wires of radii R and R, 419 forr § R oTgER ar wfwa PQRSP

carries a current I as shown in figure
below. The magnitude of magnetic 1 Famior e wm &, S uRT 1 T

induction at centre C is T2 1 5 C T YTk Hiehed 1 faean
R

i
[ ISy |
(i .
C) Ho R, RJ !
(1 ; |
D) Mol ﬁ—] '_
120. The magnetic flux through a coil varies | 120. Feeh % meam & G vemd
with time as Q =512 + 6t+ 9. The ratio Q=5t2+ 6t +9 F G THT F WY ’
of emfatt=3s to t = 0s will be i B ® 1 t= 35 A t = 0s T emf =
A) 1:9 B) 1:6 T Ul |
C)é6:1 D) 9:1 A)1:9 B)1:6 |
C)6:1 D) 9:1

121. An alternating voltage V= V,sinet is
connected to a capacitor of capacity
C, through an A.C. ammeter of zero

121, yra oty & T, e & grr G, avman
FHATE R V =V, sin ot Yeamadi diees

resistance. The reading of ammeter is ST T | e e 6l ‘
Y % v Ve |
A 5 B) oC/2 A T2 Y- |
V,wC VoG
)~ D) VoG ) % D) VouC
A [ Page ‘-N'OECSSj 3EE
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122. Whatis the required condition, if the light
incident on one face of a prism, does
not emerge from the other face ?

A) n<cosec (g]

A
B) n<sec (—2-)

C) n>secA

A
D) n>COSeC(§'J

123. The critical angle for glass is 41 °48’
and that for water is 48°3g’. Calculate
the critical angle for glass-water

interface.
A) 62043 B) 34°42
C) 52042 D) 44°42

124. In Young's double siit experiment, one
of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit, If I
is the maximum intensity, what is the
resultant intensity when they interfere at
phase difference Q ?

A) I—S‘-(‘l— 80082%)

B) %’“(Hacos?g-J

122, =R 59 % o ared Wy a17afid S
? ok gEt ared & v T e, t aTavaE

123.

124,

TR ?

A
A) N < Ccosec (EJ

(A
B) N<sec (5)

C) n>secA

A
D) n>cosec (E)
I T Sl BT 41948 3R T 7
HilaH I 48°367 B | F — T
Y 1 Wil T Jra i |
A) 62043 B) 34042’
C) 5204y D) 44742’

T % T Tl W, wehe @

wefle @ g § | sofer o weite & yem ‘
& A TR whe ¥ gt 2) s I,
ARepew fierar R @, w@ 98 oF1 ¥9 &
IR Q F IR w1 2, 7w wRomh

e Fr et 2 ?

9

B) I—S’-(H Bcosz-g—))

| 2 Q
mlq.8 =
A) (1 cos ]

3EE
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125. Maximum kinetic energyofa 125. safem faifeeor i s (f) & @9 O
_ photoelectron varies with the frequency FIE! SAFA i ATtpan nfes Hel i
(f) of the inmdent radiation as yiafda 2t 8, 99
A) Ex A J A) Ex A
>f —>
B) EKA_s_‘ B) Ex p ﬂ

C) Ex4

P e |
\ Ny

—h\f
-

—~V

) 4

D) Ex4 D) EK

A 4
ek 4

A . | [Pa_gemoj.-aﬂ | .3EE
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126.

127.

128.

In Balmer series for hydrogen atom, find
the energy of photon corresponding to
longest wavelength.

A) 18.9 eV
B) 3.03 eV
C) 1.89eV
D) 30.3 eV

The half life period of a radioactive
element X is same as the mean life time
of another radioactive element Y.
Initially they have the same number of
atoms. Then

A) X andY decay at same rate always

B) X will decay faster tlhan Y

C) Y will decay faster than X

D) X and Y have same decay rate
initially

Cobalt — 57 is radioactive, emitting
B -particles. The half life for this is 270
days. If 100 mg of this is kept in an

“open container the mass of Cobalt - 57

after 540 days will be
A) 50 mg

50
B) (7—2-) mg
C) 25mg
D) Zero

1286.

127.

128.

TEH @ TSN WA % o,
TR vl e o dedf F B H e
T <RIf |
A) 18.9eV
B) 3.03 eV
C) 1.89 eV

D) 30.3 eV

T el eEs X S AT Sfaene
Ta el e Y o sftaa Siaere
& SO ® | YIS H ITH I g9H §EE
H qaT 9 |

A) X 3R Y T TF W W B
B) Y S gen & X osh & g2ar ®

C) X & gemr# Y ool & wrear &

D) TeIm & X 3 Y 1 TF @ g O

FETee — 57 Wedendf § s B -on &
IrESH AT © | FHR T sfa 270 A
%1 9% 99 100 mg 1 GA s | @
AT 8, @ 540 f& 9 Heee - 57 A
SIHH Sl
A) 50 mg

50
B) (ﬁ) mg
C) 25mg
D) &

EPage Na. 38 ]
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130.

131.

ks

129. In the circuit of figure, treat diode as 129. 39 i3 & gife o T@ie % a1eyl uufim,
ideal, current in the 4 Q resistor is 4 0 vy o am |
D,
AN\~
A % é4n 20 % e
Trav Teav
A) 2A B) 3A A) 2 A B) 3A
12 30 12 30
A travelling microscope is focussed on 3
130. TF ITAT WIGHIDIY Hl T S0E &
an:ink dot. When a glass slab {n = 1.5) EE. S @ﬁ e gﬁ%
of thickness 9 cm is introduced on the qt L s i
dot, the travelling microscope has to be WH[E R (n = 1.5) I forg T T@w S
moved by T, QT AT A1gShehIY < TGN
A) 3 cm upwards T T | )
B) 5 cm upwards A) 3 8.1, FW i 3R
'C) 3 cm downwards B) 5.7 S HY 3
D) 5 cm downwards C) 3 a1 4= ¥ 3t
. e D) 533k 12 A 3l
A stationary object is released from a
point P a distance 3R from the centre 131. R e ol M soma 92 % ¥z @
of the moon which has radius R.and
mass M. Which one of the following R ﬁg P4 Qaﬁ et g 1 91 ﬁm
expressions gives the speed of the ST &1 <% T T G H Wﬁ{ =3
object on hitting the maon ? T Fi di arfieafa qoidi g ?
(. Vé / A ( 4 / 4
A 23<5RM o 4GMJ" 2 2GMT’ 5 [4GM
(2GM Y2 (GMY? (2GM Y (GMY?
C) D) | — C) |[— D) | —
v RE \ R . R \ R
[ Page No:'39 ]
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133.

134.

with a speed of 15 ms=! gushes outof a
tube of cross-sectional area 1072 m2and
hits a vertical wall nearly. The force
exerted on the wall by the impact of
water assuming it does not rebound is

A) 2.25x103N
B) 2:5x10% N
C) 3.0x10°N
D) 3.5x10°N

Two identical charged spheres are
suspended by strings of equal lengths.
The strings make an angle of 30° with
each other. When suspended in a liquid
of density/0.8/g cm™ the angle remains
the same. If density of the material of the
sphere is 1.6 g cm™3, the dielectric
constant of the liquid.is

A) 1
B) 4
C) 3
D) 2

An electric field E = (2] + 3j)N/C
exists in'space. The potential
difference (Vp — Vo) between two
points P and Q whose position vectors

132, grit i ames 15 ms™! ifd & 9 1072 m2

I BE EIHA F AT B THERK T
e ! & 3 I dan 9 el R
&Y 781 ST T8 A T IHT % W9
q fan T g s o
A) 2.25x10° N
B) 25x10°N
C) 3.0x10%N
D) 35%10°N

133, & g9H Wi 99 ) THH T8 F SR A

TEHHT ST & | SR ThH-gW & 30°
U TG 21 0.8 g oy o & s A
AHH R o wiv guH T € | 3fE g
= Tt w1 B .6 g e ®, T B T
A) 1
B) 4
C) 3
D) 2

134. £ =(21 + 3])N/C & &= s1rammar
vt @ | Torem febfe wfemn Fo =i+ 2j

i f,=2{ +j+k &, PR QI =

Fo=i+2j and fq =2+ +k is (ERCIGH ST TAS T {
A) =1V A) =1V |
B) 2V B) 2V
C) -3V C) -3V
D) 4V D) 4V
[%@mmﬂ

3EE
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135.

136.

137.

138.

In the circuit below, the potential
difference between A and B is

| 190V

I | | 3KF
I I
1KF
_II A IPB
1RF 3uF
A) 10V B) 20V
C)30V D) 40 V

A copper wire of 3 mm?2 cross sectional
area carries a current of 5 ampere. The
magnitude of the drift velocity for the
electrons in the wire, (Assume copper
to be monovalent, M, = 63.5 kg/k mol
and density of copper = 8920 kg/m3)
A) 0.24m/s B) 0.12m/s

C) 24m/s D) 0.06 m/s

Two qug parailel wires placed 0.08 m
apart carry currents 3 A and 5 A in the
same direction. What is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero ?

A) 0.5m B) 0.04m

C) 0.05m D) 0.4m

The relative permeability is represented
by p, and the suscéptibility by % for a
magnetic substance. Then for a

paramagnetic substance
A} b, >1%<0 B) u,>1,%>0
C) u, <1x<0 D) p, <1,x>0

136.

137.

138.

Eage No. m

o
2 "‘{..ﬁ '

135, fR R afde 3, A sl B & fm &1°

T 2l

14F 3UF

A) 10V
C) 30V

B) 20V
D) 40 V

3 mm? T 8% S o It aRS SR
YR % I59 a1 & | OR 3 soeeig & Rie
e T Rm %) (79 iR
i AR 8, Mg, = 63.5 kg/k miok 3ik
IR T 97 = 8920 kg/md)

A) 0.24 m/s B) 0.12m/s

C) 24 m/s D) 0.06 m/s

0.08 Hiex & 3TeT &) Sef Yo ar U @
e & 3 A 3fk 5 A ur T57 et &) geq
HIT 1 T8 FAGRY FeFR & Wel gah
89 Y3 &, 30 fog ok gl R 2 7
A) 0.5m B) 0.04m
C) 0.05m D) 0.4m

HTdE arehfierar 1, ZRTwta R € afk
gt g & for ddensfierar X 21
e e gee & g
A) 1 >1%<0
C) u <1,%<0

B) u,>1,%>0
D) u <1,%x>0
3EE
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- 139.

140.

141.

A transformer of efficiency 90% has
turns ratio 1 : 10. If the voltage across
the primary is 220 V and current in the
primary is 0.5 A, then the current in
secondary is

A) 55 A
B) 5A
C) 4A
D) 45 A

A 1 cm height needle is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the
image is

A) 1em

B) 0.66cm

C) 0.33cm

D) 0.5¢cm

If @ is the polarising angle for two optical
media whose critical angles are C, and
C, then the correct relation is

sinC,
sinC,

A) sing=

sinC.
B) 6= 2
) sinC,

sinC,

C) tane=
) sinC,

sinC

D) sind= anC,

139.

140.

141.

90% I AR T & 319 1: 10
2 1 afe wrafies gy dieew 220 V & ol
wruftyer F 915 0.5 A ®, @) ficas &

R |

A) 55 A
B) 5A
C) 4A
D) 45A

0.05 m wE gt % IWe <4 § 0.1m
FF W1 cm I g N @ E, @
W= =1 swR 3

A) 1cm
B) 0.66 cm
C) 0.33cm
D) 0.5 cm

Tfe A SATiesHer HTemi i Yeierr HIv 6
&, Rrae wiftes w1w C, i C, tdt wd
LiCL) 2

sinC,
sinC,

A) sin6=

sinC,

B) 9=
) 8 sinC,

sinC,

C =
) tand sinC,

sinC,

- 8inB=
e) sinC,

| Page No. 42 |
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142, Two thin lenses have a combined power

of +8D. When they are separated by a
distance of 20 cm, their equivalent

27
power becomes +-5—D, then their

individual powers are
A) 6D and 3D

B) 6D and 4D

C) 9D and 3D

D) 9D and 6D

143. If the mass shown in figure is slightly
displaced and then let go, then the
system shall oscillate with a time

period of

m
A2J—-—
A) 2ma

-B)21t3—mL

2m
2 ’_
G)aer 3k

D) 2n A
m

142.

143.

T

b
3 g T il Hg A 49D B |
% 20 8.1 A g & orem o e B,

W ST A TG +%D & it B,
T I SEfFnTa AR B

A) 6D 3ilt 3D

B) 6D 3R 4D
C) 9D 3 3D
D) 9D 3k 6D

afe st # Tl T SEE W g S
et fomen s @ 3R fim W R
ST 8, A Yol T a5

Y AR B |

[ P_age No. 43]
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144. In Young's double siit experiment, using | 144, I i soet &z wam &, )\ a0 &

a monochromatic light of wavelength 3., HAshTes Thiel & T § A & T
the intensity of light at a point on the fog w <ret gy A A @ Tt o A
screen where path difference is ) is K 5 & -
_ path difference is 3, is et K smdat & 1 o el o i A B
units. Then the intensity of light at a point - Hh 2
where path difference is is
p Y ’
A) &
K 2
A) =
2 B) 2K
B) 2K - | C) 4K
C) 4K
D) E
K 4
D) 2
145. The temperature co-efficient of resistance | 1 1 m?" RS 1 T 0 0.00125/°C
of a wire is 0.00125/°C. lts resistance is #1300 K = ve w10 #) frm
1Q at 300 K. At what temperature, its A W IGeh1 Fhde 2 Q g ?
resistance willbe 2Q ? A) 1127 K
A) 1127 K B) 854 K
B) 854 K
C) 1217 K
C) 1217 K
D) 1154 K
D) 1154 K
146. If the vertical component of earth's 146. I fret M w geeft Yoy & & i
magnetic field at a place is /3 times I v IS AR Tes O 3T
the horizontal component, then the N
. , WA RIIRF G 3
value of dip at that place is ' :
A) 60° G
B) 450 B) 45° .
C) 30° C) ao° 113
D) 15° D) 15°
A U’age No. 44 ] 3EE
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147. An electron and a proton enter a 147. qum Tfes St % o 3o ol w
magnetic field perpendicularly both 5 .
have same kinetic energy. Which of gt TR & e ;ﬁm W R
the following is true ? Frefafea S e aft 2 |
A) Trajectory of electron is less curved A) T T T899 F gAEER
B) Trajectory of proton is less curved B) WreiT #} wé-99 %1 gwmRn |
C) Both trajectories are equally curved C) < W&9~TY T9F gHiaER ¥
D) Both move on straight line path D) 2 i (@1 v W = 2
148. The reason a moving coil galvanometer 148. = weidt Seet Aednies 1 3 w
cannot be used with an alternating (L R opTI N—— 3
current is that il &,
: : wife
A) The coil bends easily ) a R
B) The coll heats up too much A) 3. 7 ST § e R
C) Sparks can be produced B) Tt w5a wifers qwen
C) e fmfor & wareht 2 |

D) The net magnetic field produced is

zero D) Y% 91 &= =1 fmior g1 &

149. Select the output Y of the combination 149. e g & <wie e A2 F oo & waa:
of gates shown in figure for inputs A = 1 ; = - _ o
B=0;A=1,B=1andA=0,B=0 FEA=1,B=0;A=1,B=13kA-=0,
respectively. B =0 % f1q aSeqe ¥ &1 s |

A ' \ A |
D - | -
A) (0,1, 1) B) (1,0,1) A) (0,1,1) B) (1,0, 1) |
C) (1,1, 1) D) (1,0,0) : C) (1,1,1) D) (1,0, 0)

150. The minimum number of geostationary
satellites required for uninterrupted 150. forreanrae Sf¥ars yamon 3 forg s

o

global coverage is Forieerdt sumel i 2w gem %
A) 3 B) 5 A) 3 B) 5
C)7 D) 9 C) 7 D) 9
Ay LPage_ No. 4ﬂ 3EE !
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